CCCA
              Unit 6 – Connecting Algebra and Geometry Though Coordinates
Task – Day 64

Name: __________________________________________________________________ Date: _____________________
Task:  Geometric Properties on the Plane


MCC9-12.G.GPE.4 Use coordinates to prove simple geometric theorems algebraically. (Restrict contexts that use distance and slope.)
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Determine whether Point A lies on the circle whose center is Point C and which contains the Point P(0, 2).  Justify your answer mathematically using a graph of the circle.

a. Point A
[image: image1.wmf](

)

3

,

1

; Point C(0,0); Point P(0,2)
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b. Point A(5, 3); Point C(3,1); Point P(3, –1)

c. [image: image4.png]


Point A(3, 2); Point C(– 1, – 1); Point P(4, –1)



2. [image: image5.png]


Determine the coordinates of a scalene triangle.  Support your answer mathematically and justify with a drawing on a coordinate grid.



3. Classify the triangle as scalene, isosceles, or equilateral.  Determine if it is also a right triangle.
a. (1, 4), (4, 5), (5, 2)

Classify:

Right triangle?

b. (0, –2), (0, 2), (4, 0)

Classify:

Right triangle?

c. (0, 0), (2, 0), (4, –3)

Classify:

Right triangle?



4. Find the following information for each set of points below.

a. Plot points and connect to form a quadrilateral.

b. Determine whether the quadrilateral is a trapezoid, kite, parallelogram, rhombus, rectangle, or square.  Justify with math!
c. Find the midpoints of the diagonals.  What do you notice?

d. Find the slope of the diagonals.  Are the diagonals perpendicular?


Set 1:   A = (–3, –1), B = (–1, 2), C = (4, 2), and D = (2, –1).
· Type of quadrilateral?

· Conclusion about midpoints of the diagonals:

· Conclusion about slopes of the diagonals:

Set 2:   E = (1, 2), F = (2, 5), G = (4, 3) and H = (5, 6).
· Type of quadrilateral?

· Conclusion about midpoints of the diagonals:

· Conclusion about slopes of the diagonals:



5. Plot points A = (1, 0), B = (–1, 2), and C = (2, 5). 
a. Find the coordinates of a fourth point D that would make ABCD a rectangle.  Justify that ABCD is a rectangle.
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